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A linear stretch involves identifying lower and upper
bounds from the histogram (usually the minimum and
maximum brightness values in the image) and applying a
transformation to stretch this range to fill the full range



This graphic illustrates the increase in contrast in an
Image before (left) and after (right) a linear contrast

stretch.
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If the input range is not uniformly distributed. In this
case, a histogram-equalised stretch may be better.

This stretch assigns more display values (range) to the
frequently occurring portions of the histogram. In this
way, the detail in these areas will be better enhanced
relative to those areas of the original histogram where
values occur less frequently



This graphic illustrates the rather uneven increase in
contrast in an image before (left) and after (right) a
histogram equalised stretch.
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Thank You!




